YRNAW 113
D12 SRNaW D212 °N°°in X0 01°2

DAR 72K N1 °H 9291 17K X3

KDY — 72K 1DK1 87 02 TN NN
XD2Y — HIRK 7OK) 770 220 07 07 TP
KDY — DK 1DK1 27 "N NN
KNI — DK 10K, 270 NipY "nynY
KDWY — V2K XY IMN DY TV 2PN
RN — [N NRY, UMY T WK 2293
KDY — DK AOKY WK NN 0
KNI — DK AOKYD ,WIN> DAY 2 N
"RDIY — DK K100 "7 DX 0

718" DY TIINR RNV

Il!yjll Dy T-”:‘nu ”’ND;I_D"“I

/rny?Wn Dy Tjgnb "’NDB’W”?

N32mm *RDAY N23 °N77] X7 0172
BT3P 237 ,PRNYY NPR) 3D
071207 *A1203) 7EX 078K n7eN

NIPRR T2 W N NinK? 103

N3P "NNY 123 NP2 N2V 72 I0N)
IR PP T 3 22)

2790 WX 7Y MDD "Ny

27X KD X7 UORY TR

SRXY 5y KD 1Y XY nawn X9

30 20R 123 722 N IR 73

160



Y N30V 77 DTN
1327 9277 DN K
7972 % PN K7 YK
N nan XY)
B=hichyifeFRh))

(2299727 7YY 1997 IR DRIWARY 7,092 11197 0PI MaApYI) *

161



